Terminal — emacs — 109x32

pid SENNA_nn_viterbi(int % , float * , float * , Tloat * , Int N, int T) =

float * , ¥ H
Nt * ?

int 1, ’ ?

/+ misc allocations */

delta = SENNA_malloc(sizeof(float), N);
deltap = SENNA_malloc(sizeof(float), N);
phi = SENNA_malloc(sizeof(float), NxT);

/* 1nit *x/
for(i =0; 1 < N; 1++)
deltap[i] = init[i] + emission[i];

/#* recursion */
for(t = 1; t < T; t++)

{
float * = delta;
for(j = 0; j < N; j++)
{
float = ~FLT_MAX;
int = 0;
for(1=0; 1 < N; 1i++)
{
float 7z = deltap[i] + transition[i+jN];
if(z > maxValue)
{
maxValue = z; "
] maxIndex = 1i; :
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